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8,005 | 3,202 |
L=861 9 21 17 21 3,885 570 570 570
L=217 9 18 18 18 584 44 44 44
L=428 3 18 17 18 3,684 254 254 254
L=859 4 21 17 21 9,395 990 990 990
L=157 13 21 17 21 1,656 126 126 126
3 L=300 15 19 17 19 393 378 378 378
200 L=130 15 21 21 21 50 47 47 47,
202 L=230 15 20 18 20 81 73 73 73
4 L=250 18 21 18 21 367 367 367 367
214 L=100m 20 21 20 21 12 12 12 12
217 L=150m 20 21 20 21 88 88 88 88
218 L=430 21 21 21 21 287 287 287 287
229 L=230 21 21 21 21 169 169 169 169
45 L=200m 21 21 21 21 20 20 20 20
171 L=500m 21 21 21 21 42 42 42 42
18.4ha 2 22 17 21 6,736 673 673 673]
185 15 26 21 21 4,728 686 686 686
0.3ha 17 19 17 19 82 82 82 82
0.42 19 21 20 21 43 43 43 43
215 17 18 17 18 38 38 38 38
197 19 20 19 20 30 30 30 30
3 L=300 17 19 17 19 18 18 18 18
35 21 21 21 21 23 23 23 23
6 18 21 18 21 12 12 12 12
10 19 19 19 19 1 1 1 1]
13,850 18 21 18 21 35 35 35 35
13,850 20 21 20 21 363 363 363 363
EV 1 17 17 17 17 39 39 39 39
202 187m 20 20 20 20 12 12 12 12,
40 21 21 21 21 80 80 80 80
L=360m 21 21 21 21 29 29 29 29
L=1,480m 21 21 21 21 148 148 148 148,
=2,250 21 21 21 21 180 180 180 180
1,000 17 18 17 18 543 543 543 543
800 21 21 21 21 318 318 318 318
34,171 6,820 6,820 6,820




59ha 18 18 18 18 3 3 3 3

1,500 17 17 17 17 10 10 10 10

330 18 21 18 21 190 190 190 190,

17 20 17 20 296 296 148 148 148

L=300 17 19 17 19 56 56 56 56

23 19 19 19 19 1 1 1 1

L=576 18 24 20 21 1,450 431 431 431

0.24ha 21 21 21 21 97 97 97 97|

560 20 21 21 21 214 214 214 214

18.5ha 21 21 21 21 35 35 35 35

0|

0)

0|

0|

2,352 1333 1185 148| 1185

| (A+B) 8,005
82m o 12 18 1,013
470m o 11 23 2,745
220m o 22 22 5
11.2ha o 9 19 10,480
1.7ha o 13 17 18,000
15ha o 11 22 13,800

1280m o 17 22
180m o 17 22

620m o 18 22 180
o 17 17 97
9.2ha o (S)61 21 124,

46,444
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